Efficiency vs dr

v 02

<
©0.18
20.16
c
Q
50.14
=
®0.12
0.
0.08
0.06
0.04
0.02

Ratio

0.9

0.8
1073

[T 1
—=— DQM_CKF_TTbase
—e— DQM_CKF_TT_retrainOldFiles113

—_— DQM CKF TT retramOIanIeleS

H 1|
T
b m " " "I

1072 107

1
TP min AR

[ Efficiency vs dr (track,jet) |

B 0.1

0 0.09

=

o

x 0.08

£20.07

&

£ 0.06

@

=]

£ 0.05]

©
0.04
0.03
0.02

0.0

1072 107
AR(TP, jet)

0.2

................................................

................................................

Ratio

o
..'.A

TTﬁTﬁ i

LRt

50 60 70 80 90 100
Pileup



	Contents
	Page 1


